Name: ____________________________

Period: __________________________

UNIT 1:  ENGINE DESIGN 
Section A — Match the following terms with correct definitions.  All the definitions will not be used.

​​___1. Aluminum alloy

___2.
Bearing

___3. Diesel engine

___4. Cast iron 

___5.
 Rotary engine

___6.  Cycle

___7.
 Cylinder

___8.
 Forged steel

___9.
 Inline engine

___10.  Opposed engine

___11. V-type engine


A.
The piston chamber within an engine block.  

B.
Also called the Wankel engine.

C.
A device that allows movement between two objects while supporting the position of the objects.  

D.
Uses a fuel that is oilier than gasoline. 

E.
An engine design in which the cylinders are positioned flat on both sides of the crankshaft.

AA.
Aluminum that has other metals mixed with it.  

AB.
A term that refers to a repetitive function of a mechanical system.  

AC.
Iron that is heated to its molten state and poured into a forming mold. 

AD.
An engine design in which the cylinders are positioned in a single, straight line.

AE.
Steel that is formed by pressure while still in solid form.  

BA.
A portion of a shaft that is out-of-round.  

BB.
An engine design in which the cylinders are arranged in two equal rows and are connected to the same crankshaft.  The cylinders appear to form a “V” when viewed from the end. 

BC.
A chemical that is used to generate the heat required to operate an engine.
Section B — Select the best answer from the five choices listed.


12.
Which of the following components is the foundation for the short block?


A.
Bearings


B.
Camshaft and timing set


C.
Crankshaft


D.
Cylinder block


E.
Piston and rod assembly


13.
What is a crankshaft mounted in that allows it to rotate freely?


A.
Pins


B.
Rings


C.
Sprockets


D.
All of the above


E.
None of the above


14.
A piston usually contains


A.
a ring that controls oil flow.


B.
two rings that seal the combustion chamber.


C.
three rings that connect the piston to the engine.


D.
Both A and B


E.
Both A and C


15.
Cylinder blocks are typically made from


A.
cast aluminum.

B.
stainless steel.

C.
cast iron.

D.
Both A and B


E.
Both A and C


16.
A function of a camshaft is to


A.
absorb the power of the fuel when ignited.


B.
operate the valves in the engine.


C.
convert the up-and-down motion of the pistons to a 



side-to-side motion.


D.
transmit the power of the ignited fuel to the crankshaft.


E.
None of the above


17.
When compared to the speed of the crankshaft, the camshaft moves


A.
at 1/2 the speed.


B.
at 3/4 the speed.


C.
at the same speed.


D.
1-1/2 times as fast.


E.
twice as fast.


18.
Which type of engine has two cylinder heads?


A.
Inline


B.
Opposed


C.
V-type


D.
Both A and B


E.
Both B and C


19.
Push rods and rocker arms are located in the


A.
valve train.


B.
timing set.


C.
lubrication system.


D.
crankshaft.


E.
camshaft.


20.
Which of the following is a stroke of the cylinders in an internal combustion engine?


A.
Exhaust


B.
Compression


C.
Combustion


D.
Both A and B


E.
Both A and C


21.
During the intake stroke, the


A.
piston moves downward.


B.
intake valve is open.


C.
exhaust valve is closed.


D.
All of the above


E.
None of the above

Section C — Read the following statements made by Technicians A and B.  Indicate which is correct by selecting from the four choices listed.


22.
Technician A says the crankshaft is located at the bottom or center of the short block.


Technician B says the crankshaft is driven by a timing set.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


23.
Technician A says the piston and rod assembly functions to absorb the power of the fuel when it is ignited.



Technician B says a ring connects each piston to other engine parts.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


24.
Technician A says, in overhead camshaft designs, the camshaft is located in or on the cylinder heads.



Technician B says the camshaft operates the fuel pump, oil pump, and vacuum pump in diesel engines.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


25.
Technician A says, depending on the engine, the cylinder head can contain ignition system and valve train parts.



Technician B says, depending on the engine, some cooling system components can be located in the block.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


26.
Technician A says most engines today use rotary piston engines.



Technician B says a cycle in an internal combustion engine has four strokes of the cylinder.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


27.
Technician A says the compression stroke provides the power to ultimately move the vehicle.



Technician B says, to complete a stroke of the cycle, the crankshaft must rotate 90° and the camshaft must rotate 180°.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


28.
Technician A says the exhaust stroke clears the combustion residue from the cylinder.



Technician B says both the exhaust valve and intake valve are open during the exhaust stroke.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


29.
Technician A says most automobile engines today have more than twelve cylinders.



Technician B says current gasoline automobile engines have a minimum of two valves per cylinder.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.


30.
Technician A says supercharged induction systems use a pump to help force air into the system.



Technician B says, in multiport fuel injection systems, fuel is inducted at the intake port.


Who is correct?

A.
A only






B.
B only






C.
Both are correct.






D.
Neither is correct.







